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Lgsson 10.1: Day 2: Which gender uses Twitter.rrlor.e?

A recent random sampgle .S. females revealese Twitter regularly. A separate
random sample of ales revealed tha se Twifter regularly. Construct a 95% confidence
interval for the true ﬁifference in proportiong/who use Twitter regularly (females — male).
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PLAN: Identify the appropriate inference method and check conditions.
Name of procedure: 1 WO SG-MPl€ z. witervald fov P.-Pz
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DO: If the conditions are met, perform the calculations. 150760 =90
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CONCLUDE: Interpret your interval in the context of the problem.
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Lesson 10.1: Day 2: Confidence Interval for a Difference in Proportions
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Check Your Understanding G '

A Pew Research Center poll asked lndepenent rando mples of working women and men
how much they value job security. O 806 QN en ald job security was very or
extremely important, compared wnt en surveyed. Construct and interpret a

95% confidence interval for the dlfference in the proportlon of all working women and men who
consider job security very or extremely important.
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